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In a row A is 12th from left and B is 16th from right and there are 5

members between A & B then what is total no?

एक पंक्ति में A बाईं ओर से 12 व ं और B दाईं ओर से 16 व ं है और A & B के ब च
5 सदस्य हैं फिर कुल संख्या तया है?

(1) 33

(2) 21

(3) 10

(4) Either 33 or 21

(5) None of these

ORDER AND RANKING
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In a row of 35 students. X is 5th from left and Y is 9th from right. Z is

exactly mid of X & Y. What is the rank of Z from right end?

35 छात्रों की एक पंक्ति में। X बाएं से 5 वें और Y दाएं से 9 वें स्थान पर है। Z, X & Y

के बबल्कुल मध्य में है। Z का दाएं छोर से तया रैंक है?

(1) 5

(2) 21

(3) 10

(4) 20

(5) None of these

ORDER AND RANKING
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. In a row of 35 students. X is 29th from right and Y is 27th from 

left and Z is exactly mid of X & Y. What is the rank of Z from left 

end?

35 छात्रों की एक पंक्ति में। X दाईं ओर से 29 वें और Y बाएं से 27 वें और Z, X 

& Y के ठीक मध्य में है। बाएं छोर से Z की रैंक तया है?

(1) 17

(2) 21

(3) 10                  

(4) 20  

(5) None of these

ORDER AND RANKING
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If Z is 19th to the right of Y and Y is 7th to the left of X. X is 25th from 

any one of the  end and there are four students to the right of Z then  

find out the total number of students of the row? 
यदद Z, Y के दाईं ओर 19 वें है और X के बाईं ओर Y 7 वें स्थान पर है। X फकस भ एक छोर से 25 वें
स्थान पर है और Z के दाईं ओर चार छात्र हैं िो पंक्ति के कुल छात्रों की संख्या ज्ञाि कीक्िए?

(1) 35

(2) 41

(3) 36

(4) Cannot be determined 

(5) None of these

ORDER AND RANKING
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Mohan is 35th from top and Geeta  is 21st from the top among 

students. Mohan is 14th from top and 12th from the bottom 

among boys. Geeta is 18th from the top among Girls.  

What could be the total min. number of students ? 
मोहन श र्ष से 35 वें और ग िा छात्रों में श र्ष से 21 वें स्थान पर है। मोहन ऊपर से 14 वें और लड़कों में न चे से
12 वें स्थान पर है। ग िा लड़फकयों के ब च श र्ष से 18 वें स्थान पर है। कुल न्यूनिम तया हो सकिा है। छात्रों
की संख्या ?

(1) 57

(2) 43

(3) 46

(4) Cannot be determined

(5) None of these

ORDER AND RANKING
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In a class of boys and girls, Radha is 6th from the top and Atul is 12th

from top. Radha is 4th from top and 6th from bottom among girls. Atul is

7th from top and 24th from bottom among boys.
लड़कों और लड़फकयों की एक शे्रण में, राधा श र्ष से 6 वें और अिुल श र्ष से 12 वें स्थान पर
है। लड़फकयों में राधा ऊपर से 4 वें और न चे से छठी हैं। अिुल ऊपर से 7 वें और लड़कों में
न चे से 24 वें स्थान पर है।

How many children are there in the row?

(1) 39       

(2) 49

(3) 41    

(4) 48

(5) None of these
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How many girls are ranked below Atul?

(1) 15       

(2) 4

(3) 18    

(4) 16

(5) None of these

ORDER AND RANKING

In a class of boys and girls, Radha is 6th from the top and Atul is 12th

from top. Radha is 4th from top and 6th from bottom among girls. Atul is

7th from top and 24th from bottom among boys.
लड़कों और लड़फकयों की एक शे्रण में, राधा श र्ष से 6 वें और अिुल श र्ष से 12 वें स्थान पर
है। लड़फकयों में राधा ऊपर से 4 वें और न चे से छठी हैं। अिुल ऊपर से 7 वें और लड़कों में
न चे से 24 वें स्थान पर है।
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How many girls and boys are ranked between Radha and Atul?

(1) 1 Girl and 4 Boys       

(2) 4 Girl and 1 Boy

(3) 5 Boys

(4) 6 Girls

(5) None of these

In a class of boys and girls, Radha is 6th from the top and Atul is 12th

from top. Radha is 4th from top and 6th from bottom among girls. Atul is

7th from top and 24th from bottom among boys.
लड़कों और लड़फकयों की एक शे्रण में, राधा श र्ष से 6 वें और अिुल श र्ष से 12 वें स्थान पर
है। लड़फकयों में राधा ऊपर से 4 वें और न चे से छठी हैं। अिुल ऊपर से 7 वें और लड़कों में
न चे से 24 वें स्थान पर है।
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Ten members have given exam, no two students have got similar marks –
1. B always score more than C.
2. P always score more than Q.
3. L always score more than M.
4. C always score more than L.
5. Q always score more than B.
6. Each time either A score highest and D score lowest or alternatively E score highest 
and F or M score lowest

Q. If M is rank 8 and D is rank 4 then which of the following condition must be true ?

(1)A is rank 9 (2) P is rank 3 (3) E is rank 2 
(4) F score highest (5) A score highest
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Ten members have given exam, no two students have got similar marks –
1. B always score more than C.
2. P always score more than Q.
3. L always score more than M.
4. C always score more than L.
5. Q always score more than B.
6. Each time either A score highest and D score lowest or alternatively E score highest 
and F or M score lowest

Q.If A score highest than position of C should not be lower than the position number?

(1) 2 (2) 6 (3) 7 (4) 8 (5) 10
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Q. If B is rank 7 in the class then who score highest ?

(1)A (2) E (3) M (4) H (5) A or E

Ten members have given exam, no two students have got similar marks –
1. B always score more than C.
2. P always score more than Q.
3. L always score more than M.
4. C always score more than L.
5. Q always score more than B.
6. Each time either A score highest and D score lowest or alternatively E score highest 
and F or M score lowest
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Eight personA, B, C, X, Y, Z, P and Q have different age group 35, 40, 45, 50, 55, 60, 65 and 
30, but not necessarily in the same order. Z is not youngest and oldest person in the 
group. C and Q are not second youngest and second oldest person in the group. Z is older 
than B. C and Q are older than A. C and Q are younger than Y who is younger than B and P. 
The age of X is not 65 years. A is not youngest person in the group. The age of Q is 20 
years less than the person who is oldest in the group.

आठ व्यक्ति, ब , स , एतस, वाई, िेड, प  और तयू के अलग-अलग आयु समहू 35, 40, 
45, 50, 55, 60, 65 और 30 हैं, लेफकन िरूरी नहीं फक एक ही क्रम में हों। Z समहू में 
सबसे युवा और सबसे उम्रदराि व्यक्ति नहीं है। C और Q समहू के दसूरे सबसे युवा और 
दसूरे व्यक्ति नहीं हैं। Z, B से बड़ा है। C और Q, A से बड़ा है। C और Q, Y से छोटे हैं, B और 
P से छोटे हैं। X की आयु 65 वर्ष से अधधक नहीं है। A समहू का सबसे युवा व्यक्ति नहीं 
है। तयू की आयु उस व्यक्ति से 20 वर्ष कम है िो समहू में सबसे पुराना है।
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ORDER AND RANKING

Eight personA, B, C, X, Y, Z, P and Q have different age group 35, 40, 45, 50, 55, 60, 65 and 
30, but not necessarily in the same order. Z is not youngest and oldest person in the 
group. C and Q are not second youngest and second oldest person in the group. Z is older 
than B. C and Q are older than A. C and Q are younger than Y who is younger than B and P. 
The age of X is not 65 years. A is not youngest person in the group. The age of Q is 20 
years less than the person who is oldest in the group.
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. Who amongst of them is oldest in the family?

उनमें से कौन परिवाि में सबसे बूढा है?
(1) B (2) Q (3) C 
(4) P (5) X

ORDER AND RANKING
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Q. How many persons are younger than Q?

Q से ककतने व्यक्तत छोटे हैं?

(1) None
(2) One
(3) Two
(4) Three
(5) Four

ORDER AND RANKING
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Q. What is the age of C?/ C की आयु तया है?
(1) 50 years 
(2) 44 years
(3) 45 years
(4) 55 years
(5) 40 years

ORDER AND RANKING
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Q. Pulkit start five works P, Q, R, S and T from 9 am onwords in the morning. P is 
the first work and it takes two hours. Q can be done after P and takes 1 hours. 
Pulkit can do work S along with Q and R and will take 3 hours for it. T takes one 
hour and can be started after Q, R and S. Pulkit cando work R before S and takes 1 
hour.

पुलफकि सबुह 9 बिे से पांच काम P, Q, R, S और T शुरू करिे हैं। P पहला काम है 
और इसमें दो घंटे लगिे हैं। P के बाद Q फकया िा सकिा है और 1 घंटे का समय 
लगिा है। पुलफकि Q और R के साथ S काम कर सकिे हैं और इसके ललए 3 घंटे 
लगेंगे। T को एक घंटा लगिा है और S से पहले Q, R और S. Pulkit cando काम R के 
बाद शुरू फकया िा सकिा है और 1 घंटा लगिा है।
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ORDER AND RANKING

What is the time by which Pulkit completes the work R?

वह कौन सा समय है क्िसके द्वािा पुलककत कायय R पूिा किता है?

(1)2 pm
(2) 11 am
(3) 1 pm
(4) 3 pm
(5) 10 am
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Q. What is the earliest time by which Pulkit completes all the tasks?
। वह कौन सा शुरुआि  समय है क्िसके द्वारा पुलफकि सभ  कायों को 
पूरा करिा है?

(1)1 Pm
(2) 3 pm
(3) 4 pm
(4) Can't be determined
(5) None of these
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A is 6th to the right of B who is 12th to the left of C who is 19th

from right end. What is rank of A from left if total no is 34?

A, B के दायें से 6 वााँ है िो C के बायें से 12 वााँ है िो दायें छोर से 19 वााँ है। यदद
कुल संख्या 34 से A की बाईं ओर रैंक है, िो तया होगा?

(1) 21st

(2) 25th

(3) 10th

(4) 24th

(5) None of these

ORDER AND RANKING
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In a row of boys facing towards North, A is sixteenth from the

left end and C is sixteenth from the right end. B, who is fourth

to the right of A, is fifth to the left of C then. How many boys

are there in the row?

उत्तर की ओर लड़कों की एक पकं्ति में, A बाएं छोर से सोलहवां और C दादहने
छोर से सोलहवां है। B, A के दायें से चौथा है, C के बायें से पााँचवााँ है। पंक्ति में
फकिने लड़के हैं?

(1)39 (2) 40

(3) 41 (4) 42

(5) None of these
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In a class of 90 students, numbers of boys are twice the 

number of girls. Rani is 58th from the left end and there are 

20 boys to the right of Rani, then find the number of girls to 

the left of Rani? (if Rani is girl)
90 छात्रों की एक कक्षा में, लड़कों की संख्या लड़फकयों की संख्या से दोगनु है।
रान बाएं छोर से 58 वें और रान के दाईं ओर 20 लड़के हैं, फिर रान के बाईं
ओर लड़फकयों की संख्या ज्ञाि करें? (अगर रान लड़की है)

(1) 15 

(2) 16

(3) 17 

(4) 19
(5) None of these 
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INTERCHANGE
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Q.. In a row Rakhi is 19th from left corner and Priya is 21th from right corner 
after sometime when they interchange their position respectively then 
position of Rakhi became 13th from left corner.
एक पंक्ति में बाएं कोने से राख  19 वें और प्रिया दादहने कोने से 21 वें 
स्थान पर हैं िब कुछ समय बाद वे क्रमशः अपन  क्स्थति बदलिे हैं, िब 
राख  की क्स्थति बाएं कोने से 13 व ं हो गई।

Q. Find out position of Priya from right corner after interchanging?
(1) 16 (2) 23 (3) 14 (4) 15 (5) 12

ORDER AND RANKING
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In a row Rakhi is 19th from left corner and Priya is 21th from right corner 
after sometime when they interchange their position respectively then 
position of Rakhi became 13th from left corner.
एक पंक्ति में बाएं कोने से राख  19 वें और प्रिया दादहने कोने से 21 वें स्थान पर हैं 
िब कुछ समय बाद वे क्रमशः अपन  क्स्थति बदलिे हैं, िब राख  की क्स्थति बाएं कोने 
से 13 व ं हो गई।

Q.. How many persons are there in the row?
(1) 46 
(2) 47 
(3) 35 
(4) 33 
(5) 52
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In a row Rakhi is 19th from left corner and Priya is 21th from right corner 
after sometime when they interchange their position respectively then 
position of Rakhi became 13th from left corner.
एक पंक्ति में बाएं कोने से राख  19 वें और प्रिया दादहने कोने से 21 वें स्थान पर हैं 
िब कुछ समय बाद वे क्रमशः अपन  क्स्थति बदलिे हैं, िब राख  की क्स्थति बाएं कोने 
से 13 व ं हो गई।

Q.. How many persons are there between Rakhi and Priya?
(1) 4 
(2) 7 
(3) 6 
(4) 9 
(5) 5

ORDER AND RANKING
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Q. In a class, Rajat is 24th from right corner and Yash is 27th from left 
corner after some time when they interchange their position respectively 
then position of Yash became 35 from left corner.
। एक कक्षा में, रिि दाएं कोने से 24 वें और यश बाएं कोने से 27 वें स्थान पर है, 
िब वे क्रमशः अपन  क्स्थति को बदलिे हैं, फिर यश की क्स्थति बाएं कोने से 35 हो 
गई।
Q.. What is position of Rajat from right corner after interchanging?

(1) 49 
(2) 23 
(3) 32 
(4) 38
(5) None of these

ORDER AND RANKING
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In a row of 35 students. X is 5th from left and Y is 9th from right. Z is

exactly mid of X & Y. What is the rank of Z from right end?

35 छात्रों की एक पंक्ति में। X बाएं से 5 वें और Y दाएं से 9 वें स्थान पर है। Z, X & Y

के बबल्कुल मध्य में है। Z का दाएं छोर से तया रैंक है?

(1) 5

(2) 21

(3) 10

(4) 20

(5) None of these

ORDER AND RANKING
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. In a row of 35 students. X is 29th from right and Y is 27th from 

left and Z is exactly mid of X & Y. What is the rank of Z from left 

end?

35 छात्रों की एक पंक्ति में। X दाईं ओर से 29 वें और Y बाएं से 27 वें और Z, X 

& Y के ठीक मध्य में है। बाएं छोर से Z की रैंक तया है?

(1) 17

(2) 21

(3) 10                  

(4) 20  

(5) None of these

ORDER AND RANKING
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In a class of 90 students, numbers of boys are twice the 

number of girls. Rani is 58th from the left end and there are 

20 boys to the right of Rani, then find the number of girls to 

the left of Rani? (if Rani is girl)
90 छात्रों की एक कक्षा में, लड़कों की संख्या लड़फकयों की संख्या से दोगनु है।
रान बाएं छोर से 58 वें और रान के दाईं ओर 20 लड़के हैं, फिर रान के बाईं
ओर लड़फकयों की संख्या ज्ञाि करें? (अगर रान लड़की है)

(1) 15 

(2) 16

(3) 17 

(4) 19
(5) None of these 
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Eleven persons A, B, C, D, E, F, G, H, I, J and K sits in the 
circle and facing the centre but not necessarily in the 
same order. D sits third to the right of B and three 
persons sit between D and I. A does not sits near to I. K 
sits second to the right of A and K does not sit near to 
D. Three persons sit between I and J. C sits third to the 
right of K. E is not the immediate neighbour of A and D. 
G sits second to the left of H. 

ग्यारह व्यक्ति A, B, C, D, E, F, G, H, I, J और K वतृ्त में बैठे हैं और
कें द्र की ओर उन्मुख हैं लेफकन आवश्यक नहीं इस क्रम में हों। D, B 
के दायें से ि सरे स्थान पर बैठा है और ि न व्यक्ति D और I के
ब च में बैठे हैं। A, I के तनकट नहीं बैठा है। K, A के दायें से दसूरे
स्थान पर बैठा है और K, D के तनकट नहीं बैठा है। I और J के ब च
ि न व्यक्ति बैठे हैं। C, K के दायें से ि सरे स्थान पर बैठा है। E, A 
और D का तनकटिम पडोस नहीं है। G, H के बायें से दसूरे स्थान
पर बैठा है।
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Who sits second to the left of J? a) F b) A c) H d) K e) D

How many persons sit between A and G when counted 
from left of A? a) Four b) Three c) Five d) Two e) None

Who sits second to the right of the person who sits third 
to the left of H? a) G b) C c) E d) D e) I

When we arrange all the persons in alphabetical order 
starting from A in clockwise direction (excluding A) then 
the position of how many persons does not change? a) 
Two b) One c) Four d) Three e) None

Who sits fourth to the right of F? a) C b) G c) A d) B e) D
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